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1. EERERO
(1) \EERLE
2NMaH 1, 366, 000 1, 366, 000 2,732,000
ERBEZMRE 66, 000 66, 000 132, 000
BHNSEZME 1, 300, 000 1, 300, 000 2, 600, 000
BARE 300, 000 300, 000 600, 000
EARE 1,000, 000 1,000, 000 2,000, 000
B|RINE 46, 419, 000 0 46, 419, 000
ZETINEE 46, 419, 000 0 46, 419, 000
ZHRBEZRE 46, 419, 000 0 46, 419, 000
SMEMEE 1, 860, 000 0 1, 860, 000
S AN HEAKBIRE 1,500, 000 0 1, 500, 000
mETH ZEBI RS 1,500, 000 0 1,500, 000
ZHMEMBIRE 360, 000 0 360, 000
=N Gl )% 360, 000 0 360, 000 | @t aHsHRE
SMEHETE 740, 000 1,760, 000 2,500, 000
ZWEMNE 240, 000 1,760, 000 2,000, 000
B R 300, 000 0 300, 000
H2UNE 200, 000 0 200, 000
MRk 175, 000 280, 000 455, 000
ZIWAER 5,000 0 5,000
HERE 20, 000 0 20, 000
HUNEE 150, 000 280, 000 430, 000
INH— 150, 000 150, 000 300, 000
NRERE 0 90, 000 90, 000
ZDih 0 40, 000 40, 000
BEIAEET 50, 560, 000 3, 406, 000 53, 966, 000
(2) #EEA
= % B 50, 560, 000 0 50, 560, 000
AGE 38,018, 000 0 38,018, 000 |s8h24 . Jexenii4
WHFY 32,787,000 0 32,787,000
BHELE 5,231, 000 0 5,231, 000
WEXBEE 400, 000 0 400, 000 |sHEiRES
BIEERE 800, 000 0 800, 000 |EsEH . EhfEHS
BnER 2 147, 400 0 147, 400| 25ty ok
HEMSRERE 140, 000 0 140, 000
HERE 400, 000 0 400, 000|x&%
1E1E4 50, 000 0 50, 000
LEERE 400, 000 0 400, 000
NI S A2 200, 000 0 200, 000|=2—2—ALS—{ERk %
& 260, 000 0 260, 000 |4 Iz &




7 B DWBEEEE EARE & & W OE
KBKHE 140, 000 0 140, 000 |EH=ERH
=L 1,000, 000 0 1,000, 000 | =, o —#4%
R 200, 000 0 200, 000 | =@, XiEFIHE RIS
BBl 1,000, 000 0 1,000, 000 | s+ %8¢, HemseS
HEBAR 2,321,000 0 2,321, 000 |4z %%
ERE 3, 950, 000 0 3, 950, 000
REXES 1,000, 000 0 1, 000, 000
ne 133, 600 0 133, 600
& ) B 0 3, 406, 000 3,406, 000
AtE 0 2, 662, 000 2,662, 000| #HRMASHS
aHFY 0 2,275, 000 2, 275, 000
BHELE 0 387, 000 387,000
REE 0 20, 000 20, 000
RERXEE 0 70, 000 70, 000
BIEERE 0 15,000 15, 000
HERE 0 0 0
SR B 0 0 0
gfEH 0 168, 000 168, 000 |2 mfs L3
FARAR 0 31,000 31,000 | mpe i
b2 /N=FE 0 100, 000 100, 000 |~y —o5%
£iE 0 320, 000 320, 000 |mm+mERIEE
e 0 20, 000 20, 000
BEERAM 50, 560, 000 3, 406, 000 53, 966, 000
A SRR LR RIS 0 0 0
FEE S FE 0 0 0
LYERISEE 0 0 0
2. BENMERORB
(1) BENINE
BRI 0 0 0
(2) ®ENER
wEEs &R 0 0 0
LPERIERE 0 0 0
L — R IERRB E IS EE 0 0 0
— R IERMEHERE 0 0 0
— R IERRA R R ARE 0 0 0
1R ERKREIEIZ R OB
LR E ERMESEE 0 0 0
REEKIMENE RS 0 0 0
IREERKIIERXES 0 0 0
E& BB O
LR SRR 0 0 0
ESHERE 0 0 0
ESHRER 0 0 0
ERREF EHRES 0 0 0




